i

IS 15 (77 3 M [, IS I3 h=b

W% ¢ I. FR STH. ok,

Fwp S
. _ 9
X X=X (X=X )
s iscisgass — kRS (=.05)%= L olSeeS

B B-ISmys = 5,875 [3475)° = 2.34569S
7 7ois.ass 1. 815 (L87SP = 35695

> B-isqgas = -2.RS Edaasf = Y.SISLesS
Y M-I S =~ 1S (=1198)° = 1,34 SLIS
lb L- 15,128 = 0. 80S (0.875)%= o 6SLAS
IS IS-B0S= ~ .S (~.13s)°=  -0lS(aS
D B-sus - 2. RS (-313s)° = 4.SIs(as
I—_l— fo—— A
2 C)
S k-x VT sa 4TS
~ _ B
X = _?g‘"-' IS, RS 6( k,]'a
52 N 7T
h-: 9.) 3-&-75
s= 5T
s34
Now CHT Seums c~ 1,%0770'S3
OF =n-
F-g-1=77
.03 +20 oS B
N
X Xe
R MobT

e

Ly U\-')s"’ \((i -1) 1. ;07791'331{ = (.98
1Y.0b7 (LB&/’.&.%)
!('\ ) s {Wm = 3.35 -
97




